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1. Sleme OMR 397 US& v HgAT 1.

Instructions for the candidates :

T gRa®T #FHiE (10 @t @)

NTFT ford |

2. goEEl FEye s vt d &8 o

3T/

3. @R sk ERE W R gT o i 3,

Candidate must enter his / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers in their own words as far
as practicable.

Figures in the right hand margin

fffe #vd & indicate full marks.

4. W Fl EZTHE{E‘E:' g7 & W 4. 15 minutes of extra time have been
I &1 15 e &1 Jfdle aag allotted for the candidates to read
fear = & the questions carefully.

5. 48 99 Yi&TaT 31 @vsl § é— @WUS-H 5. This question booklet is divided into
0g @ua-T| two sections — Section-A and

Section-B.
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WUE - A / BECTION - A

50 ¥t & IFT 97 grr
W#Wﬂﬁl%ma;}om Wz ar Fafese &%

Question Nos. 1 to 100 have ou : . 50x1 =50
50 questions. You have to ma{k ygsfﬁ?:&:é‘ to;{i;‘;"h;?tzn% :fr;e i’sw correct. Answer any
1. g ¢ OMR-Sheet. 50 x 1 =50

A

G- B) HEvE®

() TS (D) TEG F T

Co-ordination is

(A) Voluntary (B) Necessary

(€)  Unnccessary (D)  Wastage of time
2. 99y wfud e s e

(A) W & A B) faumi & mz

(C) 99 Ud HHAMNE! & 7 D) Qe

Coordination is established

(A) between groups

(B) between departments

(C) between management and workers

(D) all of these "
3 - UEY HIFHE TR T ?

(A)  TFERE (B)  greeoT

(€  wedm o)

Which is not a function of management ?

(A)  Planning - (B) Staffing |

Aer  Cooperating (D)  Controlling
4\ UFY TH

(A) HETE B) fowme

() ol T g S ® (D) N T fawe w1 T §

Management is . '

(A) an art B a science |

,{C‘r both art and science’ (D)  neither art nor science
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ﬁmﬁﬁm—mmwﬁmqﬁg?

W T o (B) WST &1 fora
(©) IR STo T (D) A Frukor s
g;‘ieh gzrtz;:nfollow;?g is not an objective of management ?
g profits
(C)  Providing employment {g{ g;ﬁw"l;z!i‘t.hc organisation
o, AP T R A b w G a gy
w 7= - | B) &
€ FE I A
» (D) T A &R T
By Scientific Manage t .
T =i
(©) 0 ellect _ (D)  None of these
7. R $AT & WS % fogreg ¥
@ 5 B 10
€ 14 D) 1
Henry Fayol's principles of management are
,:g)t’ f . B) 10
(D) 15
8. & AT HF T gAT AT
(A) TOURH B) wEH
(€ wERHE (D)  fier d
Henry Fayol was born in
(A)  Japan 4B  France
(C) Germany (D) America
9. uey & fagra Ad ¢
(A)  QETeE (B) @yl
() gl (D) AT
Which are not principles of management ?
(A) Universal 4By  Flexible
(C) Absolute (D) Behavioural
10. Warg & fagral #t 9T oy TR d & 9 & 2
(A) TN ® (B) Ve & WA gNI
(C) TR F I TR (D) WHN SFF & FR

How are principles of management formed ?

(A) In alaboratory . (B)
(C) By experiences of customers (D)

By experiences of managers

By social scientist

Page 4 of 24
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11. WIS &

(A)y e B) fasm
Administration is

(A) Art

(C)  Art and Scicnce both

12. WY &1 QIS Svaifyeg &

@ W (B) et seaifal & ufy
€ &R & wfa (D)  %ae U ¥ oy

The social responsibility of management is

(B) Scicnce
(D) None of these

AAT towards all (B)  towards employees only
(C) towards thc government (D) towards consumers only
13. TS &el @ |

(A) W B HE @
(B) T ® & oA &
(C) T HM FA TF W ¥ FH o <1 =

(D) ¥ T HE 7
Managcement is an art of
(A) doing work oneself

(B) taking work from others

{Cr both for doing work oneself and taking work from others
(D)  none of these

4. “YSTYTHF UM LI A FATE |
() St AR, R A (B) REA wey tRifTYH Fi
(C) &I haleT & (D) TH | FIE &l

"Management is a profession.” This statement is of
(A) George R. Terry
AB]” Amecrican Management Association
(C) Henry Fayol
(D) none of them
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|5. 9&u @ WhfaE

ST wlawr & w9
Afsa vl & =g 1

A a3 ufqw 9 % wy o

T | wiY

The nature of management is
as an inborn ability
as an acquired ability

_{ey” asinborn and acquired ability both

(D) none of these
16. WY FT IR &
(A)  wH=q (B) HTEA
© i D) T q *E T
The essence of management is
~#]  Coordination (B)  Organisation
(C)  Staffing (D)  None of these
17. oAFie W&y & far &
(a) o (B) W
(€ TeeE (D) fem=m
The father of scientific management is -
(A)  Gilberth 4By Taylor
(C) Robertson (D) Kimbal
18. TRTGH Shif=T JeAER &
(A) TS T FT B) GANH &
() (ot & (D) ¥H | Al
Mental revolution is the essence of
AAY”  Scientific management (B) Combination
(C) Rationalisation (D)  All of these
19. AsfTes wa § 2o A AT R
(A) TR 3reEEE
(B)  UHF AT qUl WHY AT
(C) T FegEH, YT A Ul GHE AT
(D) T A FE Tl
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The experiments done
{A) Motion study
(B) Fatigue study ang Time study
AGY" Motion study, Fatigue

Y. Ruc study and Time
(D)  None of these ' Time atudy

20 SOTA Ay 1 A @ o) ) e )

by Ta i
_ vlor under scientific Mmanagement were

(A) &1 B) b

(€ fuan (D) &7 B

Wages given to workers in traditional management are

(A) Low (B)  High

(C) . Maximum (D)  None of these
21, UH A & g

(A) W G B) @S

(C) &, T E WY NS @ D) T Q|
Controlling function of an organisation is

(A) Forward looking

(B) Backward looking

ACT”  Forward as well as backward looking

(D) All of these

Az 3 AW T @ A W F) A e e w gt e
(A)  H A W e

(B) VT 3YETHA FH T &M

(C) Ul & AN W IS TN Fel &N

(D) ¥ § HIE Tal

Other things remaining the same, an increase in the tax rate on corporate

profits
(A) make debt relatively cheaper

(B) -make debt relatively less cheaper
(C)  have no impact on the cost of debt

(D) none of these ‘
03, frggey 39 ST T OFR L ¢
(A) FH AT Al
(B ] AT ?1'7ﬂ
argior i fasra @l HTE UHIE & el €

)
N

()

(D) E,"m d EETE;' Wﬁ -

_‘ Yy s 24
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s wnies with higher growth paternal are likely to
(A) Pay lower dividends
(B) Pay higher dividends
(C) Dividends are not affected by growth consideration
(D) Nonc of these

fereftar Ieile 3rier Feenen & afs

24.
A)  HON H T R R W oamr my e 3
B) 7R W e, woil ) o @ e 2
(C) U ATWH ¥ Iuey ¥
(D) A foemm faeit swiem =% am wg &
Financial leverage is called favourable if
(A) Return on Investment is lower than cost of debt
(B)  Return on Investment is higher than cost of debt
(C) Dcbt is casily available )
(D)  If the degree of existing financial leverage is low
25. UNHE T fgdaes s
(A)  TH-TR | dfawgl @ & (B) US-3A &l Team ad (FRH) |
(C) A 9 F FE FA E (D) U g & Frafa w3 &
Priniary and sccondary markets
(A) compete with each other (B) complement each other
(C)  function independently (D)  control each other
26. WURd ¥ $el Lich TaTas (IE T9IRI) H G §
(A) 20 (B) 21
(C) 22 , (D) 23
Total number of Stock Exchanges in India is
(A) 20 B 21
(C) 22 (D) 23
7. T YR SR 1 F9Er (JUR ) W5 §
A) A +5 B) A+3
© d+2 D)
The scttlement cycle in NSE is
(A) T+ 5 (B) T+3
(C) T+2 (D) T+l
[217 )1 [(A)-90 15-1139) Page 8 of 24
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28. UM F ITY / 3Ry WNg Fed &
A -
(A) CRk (B) TIRE®HT
(€ e ;
. (D) ¥ A T
Barriers to entrepreneurship stifle
(A) Innovation .
(C)  Uncertainty {g) Profitability
(D) None of these
29. e g ERT amaRe g & )
(A)  HETEH - (B) FEHR ®H
(€ T wH O) o
Entreprenet.lr.shi_p is ensured by https://www .bsebstudy.com
(A:} Sub§1d1anes (B) Larger firm
(C)  Medium firm - (D) Small firm
30. SUHdE oo fhad gafm ¢ )
(A) P GTEF AR . (B) ©Y oA HIRR ;;:
() SEH o’ =R (D) o q =¥ =
Entrcpreneurial fffatures are rclated with which of the following ? g
(A) W_ork creating activity (B) Profit creating activity é
(C)  Risk taking activity (D)  None of these o
31. OuIe oY ® I B & | ¢
\ - Z
(A)  3fusmad (B) IdH £
(C) WHH D) T E & =
Production in scientific management is %
A Maximum (B)  Minimum
(C) Normal ~ (D)  None of these
32. A3 3faer Hifq &1 wq@ I E |
(A)  FTRIH (B) eI
© iR (D) T 4 Tl
Main-component(s) of New Economic Policy is/are o
(A) Liberalisation (B)  Globalisation
(C) . Privatisation By~ All of these
33, faeH e
(A)  HAAHIA (B) T
€ < _ (D) W s %_ﬁ?ﬂ
[217]1 [(A)-9015-les ]~ Poge9of2s
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Planning is
(A)  Short-term (B) Middle-term
. (C) Long-term ABY”  Forall terms .
34, Pt Wﬁ%@%mmwﬁw%l"ﬁam%
(A) R (B) &
(C) T & o) @
'(’:} PlﬂﬂNiﬁ a trap to capture the future.” This statement is of
ewman
(B) Hurley
_,(6)/ Allen [D) Tcrry
35. Wit 3R, A F AR P & wwR §
(A) 8 B) 6
c 4 (D) 2
According to George R. Terry, the types of planning are
A 8 B 6
er 4 : D) 2
36, fEE welt s et R
(A)  IRH |)
(C) YRS T9r 3= - (D) T ¥ HE A
For all the managerial activities planning is
(A) beginning (B) end
+€] beginning and end both (D)  none of these
37. U 373! GioF et €
A T (B) EHG wA el
(C)  wAEgut (D)  Fehiot
A good plan is o |
(A) Expensive (B Time consuming
42y~ Flexible (D)  Rigid
38. e wiwkar ® ffed @
(A) T 1Y FT gqéia‘ﬂ(ﬂ ‘ (B) 1 W foyes

© IEgEEd BFEETT 0w W

Organising process involves
(A)  Grouping of identical work

wod Apnysqasq mmm//:sdny

(B) Division of a work
(C)  Assigning work to appropriate persons
all of these
[217]1 [(A)-9015-I@9) Page 10 of 24
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39, eeeereeen Y e = ¥
A) oy G (B)
(C)  Hywits dmaq (D)
There is no discipline in
(A) Divisional Organisation (B)
(C)  Formal Organisation (D)
40. e, H Qe &Y e
(A) i e (B)
(C) Toury des (D)
There is no partiality in '
(A} Formal Organisation - (B)
(C) Divisional Organisation (D)

41, IO ¥ qRTd By &
() Pl o9 3 sfuwrt w5 gehm v
B) v o F sfuert w1 faes s
(C) WY B &9 &g ST
(D) =& =T 3T @IS % e
Centralisation refers to

(A) Retention of decision making authority
(B) Dispersal of decision making authority

e e
I geg

Functional Organisation
Informal Organisation

i d@nee
frarenes dme

Informal Organisation
Functional Organisation

wod Apnysqasq mmm//:sdny

(C) Creating divisions as profit centres
(D) Opening new centres or branches
12, wifvrequr 1 fatyEr € S
(A)  FT g HfvTeToT (B) S 9T W0y
()  wferegar wfereror (D) TH g+
Methods of training are ' o
(A) Job rotation training (B) On the job training
(C)  Apprenticeship training (D)  All of these
3. e g
(A)  FREE R (B) =T HTAI
) Ffm s (D) =A(HAT Y HE R A
Staffing is
B) to control
(A to plan ( \ work
(C; to direct (D)  to appoint the persorlsfi_______,
217 ]1 [(A)-9015-Ige) | - Page 11024
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YR FEIEEA & @ sEvaE 3

'
4s

(A) T B)  forzan
(Ci TH=T N (D) 70 Y [l
Necessary for effective communication, is
Al Clany (B) Courtesy
i Contunuity (DY~ All of these
5 HIR ST FEIERES &AM @A AR § Al 7Y Hl 4= B ITEN R G
[A) s ;':'2'?:'{'-? = ‘B] m
) JEE D) T 4 B A
If you want to keep a proof of your communication, you should us
- communication.
(A) Informal (B) Formal
(C) \-'crbal (D) Nonc of these
16 T T E FE-E HYE & A A § 2
(A} HPERD (B) HBINUI
(C) & T (D) qﬁﬁ‘aﬂ'[
Which onc of the following is not an element of direction ?
A&7 Motivation (B) Communication
(<) Delegation (D) Supervision
27, HAWROT F GEEA A EvdSdIs & wHag aXdl §, e g gfamfed 5
T g ? '
(A) HE o[H (B) @hIE
(C)  HART Tl D) T THo gL
The motivation theory which classifies needs in hierarchical order is develope
b‘.
(A) Fred Luthans (B) Scott
,La/ Abraham Maslow (D)  Peter F. Drucker
3 == wE-A g A € ?
(A)  TEEE (B) @I YR

€ TR (D) FHAR! WIRRI

Which of the following is a financial incentive ?
(A) Promotion (B) Stock Incentive

(C)  Job Secunty (D)  Employce Participation

217 | I [1A)-9015-la9 | Page 12 of 24
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49. ﬁmﬁﬁm-mwmmmaﬁ? I

(A)  TZ=ITEn

(C) aray

Which of the following is not
(A) Dcecoding

(€) Channcl

50. U Wil FEEv ao w2
A . - . . . .
) W:ﬁﬁ oot & freae o (B)  HHAINA F TARIN & iz 4
(©) u‘w & U & Faolg o (D) 3 9 @i o
An cfficient control system helps to
(A) accomplish organisational objectives
(B) boost employee morale

Q) judge accuracy of standards
(D) all of these

51. favig gevus Hom oar

(B)  d@omm

(D) {291 urAwAT-

an clement of communication process ?
(B) Communication
(D) Recciver

@A) T |
(€ D) T @ it
Financial managecr takes decision as to '
(A‘) F l'nfmce (B) Investment
(C)  Dividend (D)  All of these
52. M@ yEY &
(A) el B) TaFH
(C) el IR o= I (D) H 9 HI3 W
Financial Management is
(A) Art (B) Science
_4ef” Art and Science both (D)  None of these
=3 Toi vEed #) QO fraRuRT @1 e fear T
(A) 1910-20H (B) 1920-30H
(C) 1930-40H (D)  1940-50 #
Traditional approach of financial management was discarded during
(A) 1910-20 (B) 1920-30
(D)  1940-50

(C) 1930-40

(217 |1 [(A)-9015-Ip9) | Page 13 of 24
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(A) T (B)  aTeddn

) Prdeafaen D) =G
Chzu-nctt?tr‘isl!cfi of sound financial plannling are

(A)  Simplicity (B)  Liquidity

(C)  Economy (D)  All of these

fasita Fratsm1 o1 uferar

(a) oy Sevat & g © B fa<ig At @ i

) fodtm wrfafugt w1 Sy D) T F asd

The process of financial Planning is

(A) detcrm_ination of financial objectives
E(B:; (c;le;errnfnat_.ion of financial policies
clermination. of financial proced
+4P]"  all of these procedures
= 56. TR ISR EER WAl §
] : n .
2 (A) TR IS (B  HMZEEA HIN
g (C)  TIhTei iy - (D) ¥ q HIS 7@
§ Money market deals in
e 447" Short term funds - (B) Medium term funds
s (C)  Long term funds (D)  None of these
Z 57. S SN SRR 6 &
= [a) N n 8
= (A)  HATIRTA Y (B) HHRCIH BN
g (€)  SFHEA B (D) T G $IS &
= Capital market deals in -
(A) Short term funds (B) Middle term funds
' Long term funds (D)  None of these
58,  oReTdl &I fAHTT T 8
(A) HGfed ST (B) 3TiSd SR
(C)  STame® SR (D) 7T SR
.............. creates liquidity.
(A) Organised market (B)  Unorganised market
(C)  Primary market (D) Secondary market
so. A i siel 1 FEER o, T & ¢
(A) 7T AR (B) WS SR
(©) il AR AUl T SR g1 (D) 79 | HIE e
[217]1 [(}\:JEQ_OIST[J;;_ Page 14 of 24
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New 1ssued shares are dealt in

[A) Srrnndll’j\‘ Mmarket
{13 Prianary market
1C) S ondary ap

{D) None of th”d P"m'"y Markets hoth
60 dwafaw “ﬂ‘mﬂmw“d}

(A} 1988 # ® "
) 1992 % {D' 1990 2
Legally SEBI was eatab ) 1994
(A} 1988 lished in
(€ 1992 :g!l :m
ol fRym&amit |
. ' (B)
{f:' e (D) ¥t o
Element(s) of management is/arc =
(A)  Supervision (B)  Motivation S
(C}  Leadership (D) Al of these %:
02. FEmwwuw ... s 2
(A)  EETRE B - A z
L7 ]
€) Ft-=fema (D) VERE® S';
Direction is not the ............... aspect of management. =
(A)  Practical . (B)  Theoretical &
(C) Inter-personal (D) Positive g
63. LGl § =
(A) HREEH (B) OGS
(€ 94 @ FE (D) T B HE
Supervision is
_(Ay~ Necessary (B) Unnecessary
(C)  Wastage of time (D)  None of these
£4  TAGEOT WEH T ... &
A) I ®) :: o
() = (D) \ L
S rervision 18 the ... .. level of management.
?Al:rx.w;z:;n is the B)  Middle
All of these
] Low _ L .

217 11 1Ay 9015-10v | Puge 18 of 28
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65.
(A) frst (B) m
) @Hiw " p) wH AR
Supcrvisoris .............. of the workers.
(A)  Friend (B) Guide
(C) Philosopher _4B7  All of these
6. friEv vEuElg W R _
TV B L B) EATTE
© Ufsw (D) 3 F H1E
Conurol is afan ................ managerial function,
(A) CU"_IPUISOTY (B)  Necessary
(C)  Optional (D)  None of these
67. fvdzv1 yay 1wl ?
= (A)  "9H (B) Hf=H
= © T o) feda
= Control is the ................. function of management.
: (A)  First (B) Last
< (C)  Third (D)  Second
3 68. UWMEI AT &
@ o
z (A) fER B) frwifa
= .
& (C)  THHR (D) ¥ | |
g Effective controlling is
= (A) Static (B) Determined
(C) Dynamic ‘_.‘B]'/ All of these
69. fovig vey %1 &7 F ? |
A) Toulg FgeE (B) RIS &Y WIS HEAT
(C) & I & 3eie (D) T | §i
Main function(s) of Financial Management is/are
(A) Financial planning (B) Procurement of funds
(C) Allocation of net profits (D)  All of these
70. fadiy gamy @ smyfes faamyr @
(A) @Gl ST AT AT (B) ISl & IThT Ty
) () 3 (@) 2 D) T 9 & 7
[217 ] 1 [(A)-9015-1n9 | Page 16 of 24
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Modern concept of financial management is .
(A) Procurement of funds

(B) Utilisation of funds

(C)  (A) and (B) both

(D) Nonc of these

71.  SHARE ®) @esr i Pnk w2
(A)  gEfite ey (B) Toramwes d@meA
(€)  FAuis drag (D) fawrta dmes
------------- depends on the sweet will of employees.
(A) Formal Organisation (B) Functional Organisation
(C)  Informal Organisation (D) Divisional Organisation
72, IHITERE WISH # qwn F, iR g &
(a)  fawfsm B) W%
(C) w9 M w9 ¥ faafm (D) T ¥ HE Tl
In case of informal organisation authorities are
(A) Dccentralised (B) Centraliscd
(C) Equally distributed (D) None of these
73, e e W fafia g ¥
(A) Trarcas (B) M
() IUaeE (D) fauria
................. organisation is formed automatically.
(A) Functional 4By~ Informal
(C) Formal - . (D) Divisional
74, TAgfoaRor W 57 o T v
(A) g9 I SERT (B) EVEH
) fafqaE (D) ¥ ¥ &1 A&
Money spent on staffling is
(A) wastagc of money (B) necessary
Aey” investment (D) none of these
75.  fagfmertor Imeifaca @
(A) = vay (B) UEOH WS &I
(C) 3I<d W&y &l (D) 3 &t &
Staffing is the responsibility of _
(A) Lower management (B) Middle management
(C) Top management -"(’D'}/ All of these
[ 217 ] I (A)-9015-139) Page 17 of 24
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76, W S VY Qe @
) (B)

() el (D)
Human resource management includes

(A) Recruitment (B)

(C)  Training _491/

77. anﬂm %

999
7 4

Sclection
All of these

(A) TS I (B) UAR Ya-Y T w1
(C) ST T T SRR
Stafling is
(A) Part of organisation
(B) Function of personnel management
(C) Function of management
All of these
78. Jﬁ%rw % W@ T &
A 2 : B) 3
<) 4 D) 6
Main clements of direction are-
(A 2 | B 3
c) 4 D) 6
79. TR\ & va & R W sngvasmar gt
(A) 3= | - - (B) TaH
) f= - D) T W
Direction is required at the ............... level of management.
44~ Top (B) Middle
(C)  Lower (D) Al of these
80. fiqvm wdwfial @ wafe &
(A) 3 T, (B) ¥H¥H WX
c P (D) | wR/
Dircction is related to employees at
(A) Top level (B) Middle level
(C) l.ower level (D) All levels
81. fauory @ =g fevar mAT A &
(A} &R (B)  IFFEIF: =Y
(C) U R UR (D) fafars
Money spent on marketing is
(A) Wastage (B) Unnecessary expenditur
(C) Burden on the customers ({E'F)f Investment
[217 ] 1 [(Ai—g_als-l[il}__] Page 18 of 24
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g2. AU =@ W §

Lu00'x(pmsqesc.{'mmm;/:sduq

(A) FETT W . (B) egaqiagl ©
Marketmg cxpenditure is a burden
(A) on industry (B) on businessmen
ISy~ on consumers (D)  all of these
83. THAWA & foru famurg 2
(a) AfEE (B) AT
(C) FE¥gs (o) faenfaar
For business, marketing is
.LA:I" compulsory (B) necessary
(C) unnecessary (D)  luxury
g4. fauue &1 oy §
_ (A)  IUHRETSAT (B) SHEENEEl Wi
= (©  Faviaradt =t (D) T | ¥t @
2 Thc advantage of marketing is to
‘g (A) Consumecrs (B) Businessmen
< (C) Manulfacturcrs ADYy— all of them
§_ 85. fauvm srouron & :
g (A)  SERARE (B) fosraigat
Z (©)  uRwRgE! D) T IR
= Marketing concept is
- (A) Productlion-oriented (B) Sales-oriented
% (C) Customer-oriented APT~  All of these
86. IUMA AJ WS &l Ll
(A) 1:]]3}3‘[’{9[ o o (B) U f ICLIGCR:]
() & 3R U9 | (D) T Q&
Entreprceneurship fails to lead |
4AY~ Partnership firm (B) New corporate division
(C) New subsidiary venture (D) None of these
87. WMIfT® ITTRA ¥ IFTAR IUAT &
(A) WAl I HiHAT (B) e FAsaree whswan
()  =nfae uRad= =t wishar (D) ¥ | @t
According to sociological approach, entrepreneurship is
(A) Process of sensitivity ~ (B) Process of role performance
(C) Process of economic change (D) All of these
[ 217 ] I ﬁA)—‘.—JOlS-I:&m Page 19 of 24
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wrd H aiar faerg wrmmg &

88.
(A) HE¥TH (B) AR
(C) @14 @) auid) (D) U9 Y F@E
In India. entreprencurial duvclupmcm programme is
(A} Nccessary . (B)  Unnccessary
(C)  Wastage of time (D)  Wastage of Money
go.  ufiell fahTH HTdEn e ey o
(A @SR (B) 3T BRI 4§ gfg
(€ Fereror qd wiferayoy D) 7 @ [
Entreprencurial development Programme provides
(A) Seclf-employment (B)  Increase in skill of entrepreneur
(€) Education & Trajning (D) All of these
90.  YRd ¥ Jafd Rery sy W e
(A)  Thet (B)  379%o
(C) YR &} A vgear D) % A B 78
In India, entrepreneurial development programme has been
(A} Successful (B)  Unsuccessful
(C) Need of improvement (D) None of these
91, ﬁmﬁ@ﬁq—mm%faﬁmwwﬁ% ?
(A) R FoeT F gfg (B)  UEEH-&7Ta
(C)  HHHT FT 3fepay 39 D) T Q&+ T
Which one of the following is not the importance of principles of management ?
(A) Increase in efficiency
(B) Initiative
(C) Optimum utilisation of resources
(D} None of these
92. &I %I & uH
(A)  TH S (B) G IR
(C) TEHR (D)  IET SRR
Henry Fayol was a/an
(A) Social Scientist (B) Mining Engineer
(C) Accountant (D)  Production Engincer
43, TEtEARE  F S -9 ediaE A FTRT & ¥
(A)  #wfradar (B) wHETY
(C)  waa (D)  %wE
2171 [(A)-9015-I9) Page 20 of 24
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94.

95.

96.

97.

98.

https://www.bsebstudy.com

Whic f
the fg]]
A)  yn OWing ¢
Certain €8 not chg,
(C) Relativily ﬂch(gTe lhﬁ:ﬁl‘;ﬁii Frironment?
RloiCre H iy (D) Complexity
@ Ty ) Tethige 3

(C}. %?T'am“&"- iﬁmﬁ‘m‘ﬁ" :z, i
) {T

N example of Social
The Constirygigy, < Co0Nomy ()
{ the country (D)

is a )
cnvironment ?
Consumer Protection Act
Composition of family

(B)  tvg-sfgah
(C) wHfgs g
Planning is (D)  FH & wd
(&) Goal-orienteq

B Objective-oriented
[C) Men tal Proccss { l J

(D)  All of these
e vy T ¥
(A)  wEm ® T
() 3t - (D) Hfeeh
The planning is .............. step of management.
(A) First (B) Medium
(C)  Final | (D)  Optional
a$ HER e IR AR e & f
(A) Q%H-T (B) AT
) Hfad D) T A FE T

In a large sized enterprise delegation is B Necessary
€
Egl) gzlr:ll:fs:iyory (D) None of these

mmmmmw%mﬁmﬁa%mmaﬁm%

FFR (B) HFd U

A

c o ibility is accompanied

g . 1o be cffective, it is esscntial that responsibl

For dclcgation

with ncccssar?f - Man-po.wcr

(A) Autho::lt: B rention -
tiv

(C) Incen

——'-—":‘—"':'—_TI'_E Page 21 of 24
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99 Frifefa % wvran sgaen i 1 ST T L

(A Fins draq gy ST Ee
(© st wes oy FATCE

; in ?
Which of the following does not follow the scalar 'c}'wi:::ual structure
f"_\l Functional structure (B) DI al organisation
(€)  Formal organisation (D)  Inform

100. U &van ghan g)ar @ .
q@c

N o Rt g e @
(C) vy H B e 7@ () & HH &
A tall structure has a
(A) Narrow span of management (B) Wide span of management
(€) No span of management (D) Less levels of management

WU - & / SECTION - B

Y I W9 / Short Answer Type Questions
YT WS 1R 30 qw ey gwdly &1 gt @ et 15 w9 F I 1 IRAF & fiy
2 9% fufRa ) https://www bsebstudy.com 15 x2= g,

Oue:ﬂfon Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each quest,,
carries 2 marks. 15x2=3

1. & Ry e 2

State the objectives of controlling.

2. O vey o d ) | | 2
What is scientific management ?

3. i g iR gHa e F sl wawRw) )

Differentiate between motion study and time study.

4. =t faswg & F1E & ey Fary )

Statc any two objectives of personal sclling.

5. 3ubime & R 3 IR SaRy .
State any two responsibilities of consumers. h

6. % TTAT FTE ? | .o ,
What is Lok Adalat ? - ' )

7.  UAHEE % HIS § P daE | | )
Give any two functions of a supervisor.,

8. Ui EE ? | :
What is capital structure ? il

[217]1 [_[MQ_I_S_-IEU ’age 22 of 24

https://www.bsebstudy.com

wod Apnysqasq mmm//:sdpy



wod Apnisqasq mmm//:sdny

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

- 20.

21.

22.

23.

24.

25.

UG H TR

What is the object of brand ?
m&sﬁaqﬁaﬁmﬁaaﬂﬁmﬁﬁr—ﬁﬁm ¥F A wad |
Namec any two factors affecting working capital.

Juiar @ g1 foeiwanet @t =men witg )

Discuss two characteristics of entrepreneurship.

Seifiyar T FsH H AEvEHa & & HRUT FART

State two recasons for the nced of Entrepreneurship Development Programmes.

et Fra=vr & d @t @ fatan )
Give three advantages of budgetary control.
gaft IR i TR i ’
Delinc capital markct. 2
Qe w1 8 ?
What is SEBI ? ‘ :
fqurt frsior & del @ El
Enumcrulc the elements of .markclmg mix. .
ol & o B FH PA-TE ? |

rnal sources of recruitment ? I

what are the exte

Page 23 of 24
(217 )1

https://www.bsebstudy.com

2

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

26.

27.

28,

29,

30

W wew 31 R 38 i g e §

https://www bsebstudy.com

uferetor & ugea ® we it

Explain the importance of planning,

Fdeia &) faviwenan ) IR |

Enumerate the characteristics of dirc::!ing
anfiass el & o wm v @ g,
Wnite two main objectives of cconomic policies
il mmattIIaifo."rHZ'aﬁ#i#mammn |
Explain any two factors of econo
A & wee #1 Ie e

State the importance of planning.

mic environment.

g 3wy ¥ / Long Answer Type Questions

¥ & i 4 st & o §) v & R

s 3% Fraifis A
. x 8§ = =
g;fg:}; ’!:Zsrkf} lo 38 are Long Answer Type. Answer any 4 questions, Each question §
o 4 x5=20 =
31 ¥ T} i At fadwenadt #1 sevvg #ifera s =
State any five characteristics of management. é
32. & %A grT wiaed wery % e fagt @ qame) s o
Explain five princ.:iples of management advocated by Henry Fayol. §
33, ﬁﬁmmﬁwmmﬁmﬁwm| s =
Describe briefly the steps involved in the process of planning. *%
34. & wfwar 7 ffew went #1 ool S 5 8
Explain the steps involved in selection process. =
35. Sl g9 & yvifad <3 a1 acl S Ieed i 5
State the factors affecting capital structure.
36. favil awiR & W@ +d | E 2 5
What are the main functions of financial market ?
37. G @ F1 3IWH ¢ ? fguoe aur fasma # sR wifew 5
What is meant by marketing ? Distinguish between marketing and selling.
38,  I94THI gl sAfafEn, 1986 F T dF-WRIE O F1 Gele O a0l ity s
Explain bricfly three-ticr machinery under the Consumer Protection Act, 1986.
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